
Multiply by 0.01 (C)Find each product.
2.974 × 0.01 = 5.2 × 0.01 =
1.98 × 0.01 = 8.5 × 0.01 =
8.58 × 0.01 = 8.3825 × 0.01 =
4.158 × 0.01 = 5.9542 × 0.01 =
6.49 × 0.01 = 0.49 × 0.01 =
5.7 × 0.01 = 8.4 × 0.01 =
8.3 × 0.01 = 8.918 × 0.01 =
1.8 × 0.01 = 2.8532 × 0.01 =
0.701 × 0.01 = 6.364 × 0.01 =
9.724 × 0.01 = 1.8 × 0.01 =
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Multiply by 0.01 (C) AnswersFind each product.
2.974 × 0.01 = 0.02974 5.2 × 0.01 = 0.052
1.98 × 0.01 = 0.0198 8.5 × 0.01 = 0.085
8.58 × 0.01 = 0.0858 8.3825 × 0.01 = 0.083825
4.158 × 0.01 = 0.04158 5.9542 × 0.01 = 0.059542
6.49 × 0.01 = 0.0649 0.49 × 0.01 = 0.0049
5.7 × 0.01 = 0.057 8.4 × 0.01 = 0.084
8.3 × 0.01 = 0.083 8.918 × 0.01 = 0.08918
1.8 × 0.01 = 0.018 2.8532 × 0.01 = 0.028532
0.701 × 0.01 = 0.00701 6.364 × 0.01 = 0.06364
9.724 × 0.01 = 0.09724 1.8 × 0.01 = 0.018
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